

## SOME PROPERTIES OF EXTENDED ORDER ALGEBRAS

YONG CHAN KIM\* AND JUNG MI KO

ABSTRACT. We study the properties of extended order algebras. In particular, we investigate the properties of adjoint, Galois pair in commutative extended-order algebras.

### 1. Introduction

Wille [8] introduced the structures on lattices which are important mathematical tools for data analysis and knowledge processing. MV-algebra was introduced by Chang [2] to provide algebraic models for many valued propositional logic. Recently, it is developed in many directions (BL-algebra, residuated algebra) [1,3,4,6,7]. Recently, Guido et al. [5] introduced extended order algebras as the generalization of residuated algebras.

In this paper, we study the properties of extended order algebras. In particular, we investigate the properties of adjoint, Galois pair in commutative extended-order algebras.

---

Received January 10, 2013. Revised February 27, 2013. Accepted March 5, 2013.  
2010 Mathematics Subject Classification: 06A06, 06A15, 06B30, 54F05, 68U35.

Key words and phrases: (Commutative, associative) weak extended-ordered algebras, adjoint pairs (triples), Galois pairs.

This work was supported by Research Institute of Natural Science of Gangneung-Wonju National University.

\*Corresponding author.

© The Kangwon-Kyungki Mathematical Society, 2013.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

## 2. Preliminaries

DEFINITION 2.1. [5] A triple  $(L, \Rightarrow, \top)$  is called a *weak extended order algebra* (shortly, w-eo algebra) iff it satisfies the following properties:

- (O1)  $a \Rightarrow \top = \top$  (upper bounded condition),
- (O2)  $a \Rightarrow a = \top$  (reflexive condition),
- (O3) if  $a \Rightarrow b = \top$  and  $b \Rightarrow a = \top$ , then  $a = b$ ,
- (O4) if  $a \Rightarrow b = \top$  and  $b \Rightarrow c = \top$ , then  $a \Rightarrow c = \top$ .

A triple  $(L, \Rightarrow, \top)$  is called a *right w-eo algebra* if it satisfies (O1), (O2), (O3) and

- (O5) if  $a \Rightarrow b = \top$ , then  $(c \Rightarrow a) \Rightarrow (c \Rightarrow b) = \top$ .

A triple  $(L, \Rightarrow, \top)$  is called a *left w-eo algebra* if it satisfies (O1), (O2), (O3) and

- (O6) if  $a \Rightarrow b = \top$ , then  $(b \Rightarrow c) \Rightarrow (a \Rightarrow c) = \top$ .

A triple  $(L, \Rightarrow, \top)$  is called an *eo algebra* if it is a right and left w-eo algebra.

A w-eo algebra is called a *right distributive w-eo algebra* if

- (O7)  $a \Rightarrow \bigwedge_i b_i = \bigwedge_i (a \Rightarrow b_i)$ .

A w-eo algebra is called a *left distributive w-eo algebra* if

- (O8)  $\bigvee_i a_i \Rightarrow b = \bigwedge_i (a_i \Rightarrow b)$ .

(1) A w-eo algebra has an *adjoint pair*  $(\Rightarrow, \odot)$  if there exists a binary operation  $\odot$  such that

$$a \odot b \leq c \text{ iff } b \leq a \Rightarrow c.$$

(2) A w-eo algebra has a *Galois pair*  $(\Rightarrow, \rightarrow)$  if there exists a binary operation  $\rightarrow$  such that

$$b \leq a \Rightarrow c \text{ iff } a \leq b \rightarrow c.$$

(3) A w-eo algebra has *symmetrical* if it has a Galois pair  $(\Rightarrow, \rightarrow)$  and  $(L, \rightarrow, \top)$  is a w-eo algebra.

(4) A w-eo algebra has an *adjoint triple*  $(\Rightarrow, \odot, \rightarrow)$  if there exists binary operation  $\odot$  and  $\rightarrow$  such that  $a \odot b \leq c$  iff  $b \leq a \Rightarrow c$  iff  $a \leq b \rightarrow c$ .

(5) A w-eo algebra is called a *w-ceo algebra* if  $L$  is complete.

REMARK 2.2. We define that a w-eo algebra has a Galois pair (adjoint pair, adjoint triple) without the complete condition in [5].

THEOREM 2.3. (1) If  $(L, \Rightarrow, \top)$  is a right w-eo algebra, then it is a w-eo algebra.

(2) If  $(L, \Rightarrow, \top)$  is a left w-eo algebra, then it is a w-eo algebra.

*Proof.* (1) Let  $a \Rightarrow b = \top$  and  $b \Rightarrow c = \top$ . Since  $(a \Rightarrow b) \Rightarrow (a \Rightarrow c) = \top$ , then  $\top \Rightarrow (a \Rightarrow c) = \top$  and  $(a \Rightarrow c) \Rightarrow \top = \top$  from (O1). By (O3),  $a \Rightarrow c = \top$ . It satisfies (O4).

(2) Let  $a \Rightarrow b = \top$  and  $b \Rightarrow c = \top$ . Since  $(b \Rightarrow c) \Rightarrow (a \Rightarrow c) = \top$ , then  $\top \Rightarrow (a \Rightarrow c) = \top$  and  $(a \Rightarrow c) \Rightarrow \top = \top$  from (O1). By (O3),  $a \Rightarrow c = \top$ . It satisfies (O4).  $\square$

**THEOREM 2.4.** [5] *Let  $(L, \Rightarrow, \top)$  be a right-distributive w-ceo algebra and  $\odot$  be defined by*

$$a \odot x = \bigwedge \{y \in L \mid x \leq a \Rightarrow y\}.$$

*Then  $\odot$  and  $\Rightarrow$  form an adjoint pair, i.e.*

$$x \odot y \leq z \text{ iff } y \leq x \Rightarrow z.$$

**THEOREM 2.5.** [5] *Let  $(L, \Rightarrow, \top)$  be a left-distributive w-ceo algebra and  $\rightarrow$  be defined by*

$$g_a(y) = y \rightarrow a = \bigvee \{x \in L \mid y \leq x \Rightarrow a\}.$$

*Then  $(\Rightarrow, \rightarrow)$  forms a Galois pair, i.e.*

$$y \leq x \Rightarrow a \text{ iff } x \leq y \rightarrow a.$$

### 3. Some properties of extended order algebras

We prove the properties of w-eo algebra having an adjoint pair without the complete condition in [5].

**THEOREM 3.1.** *Let  $(L, \Rightarrow, \top)$  be a w-eo algebra having an adjoint pair  $(\Rightarrow, \odot)$  and  $\leq$  be defined by*

$$a \Rightarrow b = \top \text{ iff } a \leq b$$

*For each  $a, b, c, a_i, b_i \in L$ , the following properties hold.*

- (1)  $a \odot b \leq a$  and  $a \odot (a \Rightarrow b) \leq b \leq a \Rightarrow a \odot b$ ;
- (2)  $a \odot \top = a$ ;
- (3)  $a \odot \perp = \perp \odot a = \perp$ ;
- (4) If  $b \leq c$ , then  $a \odot b \leq a \odot c$ .
- (5)  $(L, \Rightarrow, \top)$  be a right w-eo algebra.
- (6) If  $(L, \Rightarrow, \top)$  is a complete lattice,  $(L, \Rightarrow, \top)$  is a right distributive w-eo algebra and  $a \odot (\bigvee_{i \in \Gamma} b_i) = \bigvee_{i \in \Gamma} (a \odot b_i)$ .
- (7)  $(L, \Rightarrow, \top)$  is a left w-eo algebra iff  $a \odot c \leq b \odot c$  for  $a \leq b$ .

(8) If  $(L, \Rightarrow, \top)$  is a left w-eo algebra, then  $(L, \Rightarrow, \top)$  be a right w-eo algebra.

(9) If  $(L, \Rightarrow, \top)$  is a left w-eo algebra and  $a \odot (b \odot c) = (a \odot b) \odot c$ , then

$$(a \Rightarrow b) \Rightarrow ((c \Rightarrow a) \Rightarrow (c \Rightarrow b)) = \top.$$

(10) If  $(L, \Rightarrow, \top)$  is a complete and left w-eo algebra, then  $(L, \Rightarrow, \top)$  is a left distributive w-eo algebra and  $(\bigvee_{i \in \Gamma} a_i) \odot b = \bigvee_{i \in \Gamma} (a_i \odot b)$ .

(11) If  $\top \Rightarrow a = a$ , then  $\top \odot a = a$ ,  $a = \bigwedge_b (b \Rightarrow (b \odot a))$  and  $a = \bigvee_b (b \odot (b \Rightarrow a))$ .

(12) If  $(L, \Rightarrow, \top)$  is a left w-eo algebra and  $\top \Rightarrow a = a$ , then  $a \odot b \leq b$  and  $a \Rightarrow (b \Rightarrow a) = \top$ .

*Proof.* (1) Since  $b \Rightarrow \top = \top$ , then  $b \leq \top = (a \Rightarrow a)$ . By an adjoint pair,  $a \odot b \leq a$ . Since  $a \Rightarrow b \leq a \Rightarrow b$  and  $a \odot b \leq a \odot b$ , we have  $a \odot (a \Rightarrow b) \leq b \leq a \Rightarrow a \odot b$ .

(2) Since  $\top = a \Rightarrow a$ ,  $a \odot \top \leq a$ . Since  $\top \leq a \Rightarrow a \odot \top$ ,  $a \leq a \odot \top$ . So,  $a \odot \top = a$ .

(3) Since  $a \leq (\perp \Rightarrow \perp) = \top$ , we have  $\perp \odot a = \perp$ . Since  $\perp \leq a \Rightarrow \perp$ , we have  $a \odot \perp = \perp$ .

(4) If  $b \leq c$ , then  $b \leq c \leq a \Rightarrow a \odot c$ . So,  $a \odot b \leq a \odot c$ .

(5) Let  $b \leq c$  be given. Since  $a \odot (a \Rightarrow b) \leq b \leq c$ , then  $a \Rightarrow b \leq a \Rightarrow c$ .

(6) By (5),  $\bigwedge_i (a \Rightarrow b_i) \geq a \Rightarrow \bigwedge_i b_i$ . Since  $a \odot \bigwedge_i (a \Rightarrow b_i) \leq a \odot (a \Rightarrow b_i) \leq b_i$ , then  $a \odot \bigwedge_i (a \Rightarrow b_i) \leq \bigwedge_i b_i$  iff  $\bigwedge_i (a \Rightarrow b_i) \leq a \Rightarrow \bigwedge_i b_i$ . Hence  $\bigwedge_i (a \Rightarrow b_i) = a \Rightarrow \bigwedge_i b_i$ .

Since  $a \odot b_i \leq a \odot \bigvee_i b_i$ , we have  $\bigvee_{i \in \Gamma} (a \odot b_i) \leq a \odot (\bigvee_{i \in \Gamma} b_i)$ .

Since  $b_i \leq a \Rightarrow \bigvee_{i \in \Gamma} (a \odot b_i)$ , then  $\bigvee_{i \in \Gamma} b_i \leq a \Rightarrow \bigvee_{i \in \Gamma} (a \odot b_i)$ . Thus,  $a \odot (\bigvee_{i \in \Gamma} b_i) \leq \bigvee_{i \in \Gamma} (a \odot b_i)$ .

(7) ( $\Rightarrow$ ) Let  $a \leq b$  be given. Since  $c \leq b \Rightarrow b \odot c \leq a \Rightarrow b \odot c$ , then  $a \odot c \leq b \odot c$ .

( $\Leftarrow$ ) Let  $a \leq b$  be given. Since  $a \odot (b \Rightarrow c) \leq b \odot (b \Rightarrow c) \leq c$ , we have  $b \Rightarrow c \leq a \Rightarrow c$ . Thus  $(b \Rightarrow c) \Rightarrow (a \Rightarrow c) = \top$ .

(8) It follows from (5) and Theorem 2.3(2).

(9)

$$\begin{aligned} c \odot ((c \Rightarrow a) \odot (a \Rightarrow b)) &= (c \odot (c \Rightarrow a)) \odot (c \Rightarrow b) \\ &= (c \odot (c \Rightarrow a)) \odot (a \Rightarrow b) \leq a \odot (a \Rightarrow b) \leq b \\ \text{iff } (c \Rightarrow a) \odot (a \Rightarrow b) &\leq c \Rightarrow b \text{ iff } a \Rightarrow b \leq (c \Rightarrow a) \Rightarrow (c \Rightarrow b). \end{aligned}$$

(10) By (7),  $(\bigvee_{i \in \Gamma} a_i) \odot b \geq \bigvee_{i \in \Gamma} (a_i \odot b)$ . We have  $(\bigvee_{i \in \Gamma} a_i) \odot b \leq \bigvee_{i \in \Gamma} (a_i \odot b)$  from

$$\bigvee_{i \in \Gamma} a_i \Rightarrow \bigvee_{i \in \Gamma} (a_i \odot b) = \bigwedge_{i \in \Gamma} (a_i \Rightarrow \bigvee_{i \in \Gamma} (a_i \odot b)) \geq b.$$

(11) Since  $\top \Rightarrow a = a$ , then  $\top \odot a \leq a$ . Since  $a \leq \top \Rightarrow \top \odot a = \top \odot a$ , then  $a \leq \top \odot a$ . Since  $a \leq \bigwedge_b (b \Rightarrow (b \odot a)) \leq \top \Rightarrow (\top \odot a) = a$ , then  $a = \bigwedge_b (b \Rightarrow (b \odot a))$ . Since  $a = \top \odot (\top \Rightarrow a) \leq \bigvee_b (b \odot (b \Rightarrow a)) \leq a$ , then  $\bigvee_b (b \odot (b \Rightarrow a)) = a$ .

(12) By (11),  $a \odot b \leq \top \odot b = b$ . Moreover,  $a \Rightarrow (b \Rightarrow a) = \top$  iff  $a \leq b \Rightarrow a$  iff  $b \odot a \leq a$ .  $\square$

**THEOREM 3.2.** *Let  $(L, \Rightarrow, \top)$  be a w-eo algebra having a Galois pair  $(\Rightarrow, \rightarrow)$ . For each  $a, b, c \in L$ , the following properties hold.*

- (1)  $a \leq (a \rightarrow b) \Rightarrow b$  and  $a \leq (a \Rightarrow b) \rightarrow b$ .
- (2)  $\top \rightarrow a = a$ . Furthermore, if  $(L, \Rightarrow, \rightarrow, \top)$  is a symmetrical w-eo algebra, then  $\top \Rightarrow a = a$ .
- (3) If  $\top \Rightarrow a = a$ , then  $a \rightarrow b = \top$  iff  $a \leq b$ .
- (4)  $(L, \Rightarrow, \top)$  is a left w-eo algebra. If  $\top \Rightarrow a = a$ ,  $(L, \rightarrow, \top)$  is a left w-eo algebra.
- (5)  $(L, \Rightarrow, \top)$  is a right w-eo algebra iff  $(L, \rightarrow, \top)$  is a right w-eo algebra.
- (6)  $a = \bigwedge_b ((a \Rightarrow b) \rightarrow b)$ . If  $\top \Rightarrow a = a$ , then  $a = \bigwedge_b ((a \rightarrow b) \Rightarrow b)$ .
- (7) If  $(L, \Rightarrow, \top)$  is a complete lattice,  $\bigvee_i a_i \Rightarrow b = \bigwedge_i (a_i \Rightarrow b)$  and  $\bigvee_i a_i \rightarrow b = \bigwedge_i (a_i \rightarrow b)$ .

*Proof.* (1) Since  $a \rightarrow b \leq a \rightarrow b$ , we have  $a \leq (a \rightarrow b) \Rightarrow b$ . Since  $a \Rightarrow b \leq a \Rightarrow b$ , we have  $a \leq (a \Rightarrow b) \rightarrow b$ .

(2) Since  $\top \leq a \Rightarrow a$ ,  $a \leq \top \rightarrow a$ . Since  $\top \rightarrow a \leq \top \rightarrow a$ ,  $\top \leq (\top \rightarrow a) \Rightarrow a$ . Thus  $(\top \rightarrow a) \leq a$ . So,  $a = \top \rightarrow a$ .

Let  $(L, \Rightarrow, \rightarrow, \top)$  be a symmetrical w-eo algebra. Then  $(L, \rightarrow, \top)$  be a w-eo algebra. Similarly,  $\top \Rightarrow a = a$ .

(3) Let  $a \leq b$  and  $b = \top \Rightarrow b$  be given. Then  $\top \leq a \rightarrow b$ . Let  $a \rightarrow b = \top$ . Then  $a \leq \top \Rightarrow b = b$ .

(4) Let  $a \Rightarrow b = \top$  be given. Since  $a \leq b \leq (b \Rightarrow c) \rightarrow c$ , then  $b \Rightarrow c \leq a \Rightarrow c$ . Let  $a \rightarrow b = \top$  be given. By (2) and (3),  $a \leq b$ . Since  $a \leq b \leq (b \rightarrow c) \Rightarrow c$ , then  $b \rightarrow c \leq a \rightarrow c$ .

(O1)  $a \rightarrow \top = \top$  because  $\top \leq a \rightarrow \top$  iff  $a \leq \top \rightarrow \top = \top$ .

(O2)  $a \rightarrow a = \top$  because  $\top \leq a \rightarrow a$  iff  $a \leq \top \Rightarrow a = a$ .

(O3) Let  $a \rightarrow b = \top$  and  $b \rightarrow a = \top$  be given. Since  $\top \leq a \rightarrow b$  iff  $a \leq \top \Rightarrow b = b$  and  $\top \leq b \rightarrow a$  iff  $b \leq \top \Rightarrow a = a$ , then  $a = b$ .

(O4) Let  $a \rightarrow b = \top$  and  $b \rightarrow c = \top$  be given. Since  $\top \leq a \rightarrow b$  iff  $a \leq \top \Rightarrow b = b$  and  $\top \leq b \rightarrow c$  iff  $b \leq \top \Rightarrow c = c$ , then  $a \leq c = \top \Rightarrow c$  iff  $a \rightarrow c = \top$ .

(O6) Let  $a \rightarrow b = \top$ . Then  $\top \leq a \rightarrow b$  iff  $a \leq \top \Rightarrow b = b$ . So,  $a \leq b \leq (b \rightarrow c) \Rightarrow c$  implies  $b \rightarrow c \leq (a \rightarrow c) = (\top \Rightarrow (a \rightarrow c))$ . Thus  $(b \rightarrow c) \rightarrow (a \rightarrow c) = \top$ .

(5) Let  $(L, \Rightarrow, \top)$  be a right w-eo algebra. If  $a \rightarrow b = \top$ , then  $a \Rightarrow b = \top$ . Thus  $((c \rightarrow a) \Rightarrow a) \Rightarrow ((c \rightarrow a) \Rightarrow b) = \top$ . So,  $c \leq (c \rightarrow a) \Rightarrow a \leq (c \rightarrow a) \Rightarrow b$ . Then  $c \rightarrow a \leq c \rightarrow b$  iff  $(c \rightarrow a) \rightarrow (c \rightarrow b) = \top$ .

(6) Since  $a \leq (a \Rightarrow b) \rightarrow b$  and  $(a \Rightarrow a) \rightarrow a = \top \rightarrow a = a$  from (2), we have  $a \leq \bigwedge_b((a \Rightarrow b) \rightarrow b) \leq (a \Rightarrow a) \rightarrow a = a$ . If  $\top \Rightarrow a = a$ ,  $(L, \rightarrow, \top)$  is a left w-eo algebra. By Theorem 2.3(2), the result holds.

(7)  $\bigvee_i a_i \Rightarrow b \leq \bigwedge_i (a_i \Rightarrow b)$ . Since  $a_i \leq (a_i \Rightarrow b) \rightarrow b \leq \bigwedge_i (a_i \Rightarrow b) \rightarrow b$ , we have  $\bigvee_i a_i \leq \bigwedge_i (a_i \Rightarrow b) \rightarrow b$ . Hence  $\bigwedge_i (a_i \Rightarrow b) \leq \bigvee_i a_i \Rightarrow b$ .  $\square$

**THEOREM 3.3.** *Let  $(L, \Rightarrow, \top)$  be a w-eo algebra having adjoint triple with  $\odot$  and  $\rightarrow$ . Then the following properties hold.*

- (1)  $(L, \Rightarrow, \top)$  is an eo algebra;
- (2) If  $\top \Rightarrow a = a$ , then  $(L, \rightarrow, \top)$  is an eo algebra;
- (3) If  $a \leq b$ , then  $a \odot c \leq b \odot c$  and  $c \odot a \leq c \odot b$ .
- (4) If  $\top \Rightarrow a = a$ , then  $\top \odot a = a$ .

*Proof.* (1) Let  $a \leq b$  be given. Since  $a \leq b \leq (b \Rightarrow c) \rightarrow c$ , then  $b \Rightarrow c \leq a \Rightarrow c$ . Since  $c \odot (c \Rightarrow a) \leq a \leq b$ , then  $c \Rightarrow a \leq c \Rightarrow b$ .

(2) (O1)  $a \rightarrow \top = \top$  because  $\top \leq a \rightarrow \top$  iff  $a \leq \top \Rightarrow \top = \top$ .

(O2)  $a \rightarrow a = \top$  because  $\top \leq a \rightarrow a$  iff  $a \leq \top \Rightarrow a = a$ .

(O3) Let  $a \rightarrow b = \top$  and  $b \rightarrow a = \top$  be given. Since  $\top \leq a \rightarrow b$  iff  $a \leq \top \Rightarrow b = b$  and  $\top \leq b \rightarrow a$  iff  $b \leq \top \Rightarrow a = a$ , then  $a = b$ .

(O4) Let  $a \rightarrow b = \top$  and  $b \rightarrow c = \top$  be given. Since  $\top \leq a \rightarrow b$  iff  $a \leq \top \Rightarrow b = b$  and  $\top \leq b \rightarrow c$  iff  $b \leq \top \Rightarrow c = c$ , then  $a \leq c = \top \Rightarrow c$  iff  $a \rightarrow c = \top$ .

(O5) Let  $a \rightarrow b = \top$ . Then  $\top \leq a \rightarrow b$  iff  $a \leq \top \Rightarrow b = b$ . So,  $(c \rightarrow a) \odot c \leq a \leq b$  implies  $c \rightarrow a \leq (c \rightarrow b) = (\top \Rightarrow (c \rightarrow b))$ . Thus  $(c \rightarrow a) \rightarrow (c \rightarrow b) = \top$ .

(O6) Let  $a \rightarrow b = \top$ . Then  $\top \leq a \rightarrow b$  iff  $a \leq \top \Rightarrow b = b$ . So,  $a \leq b \leq (b \rightarrow c) \Rightarrow c$  implies  $b \rightarrow c \leq (a \rightarrow c) = (\top \Rightarrow (a \rightarrow c))$ . Thus  $(b \rightarrow c) \rightarrow (a \rightarrow c) = \top$ .

(3) If  $a \leq b$ , then  $a \leq b \leq c \rightarrow b \odot c$  implies  $a \odot c \leq b \odot c$  and  $a \leq b \leq c \Rightarrow c \odot b$  implies  $c \odot a \leq c \odot b$ .

(4) Since  $\top \Rightarrow a = a$ , then  $\top \odot a \leq a$ . Since  $\top \leq a \rightarrow \top \odot a$ , then  $a \leq \top \odot a$ . Thus,  $\top \odot a = a$ .  $\square$

DEFINITION 3.4 (5). A w-eo algebra  $(L, \Rightarrow, \top)$  is commutative iff it satisfies

$$a \Rightarrow (b \Rightarrow c) = \top \text{ iff } b \Rightarrow (a \Rightarrow c) = \top$$

THEOREM 3.5. Let  $(L, \Rightarrow, \top)$  be a w-eo algebra having adjoint triple with  $\odot$  and  $\rightarrow$ . Then the following statements are equivalent:

- (1)  $(L, \Rightarrow, \top)$  is commutative;
- (2)  $(L, \odot, \top)$  is commutative;
- (3)  $(L, \rightarrow, \top)$  is commutative eo algebra with  $\Rightarrow = \rightarrow$ .
- (4)  $a \rightarrow b \leq a \Rightarrow b$  for all  $a, b \in L$ .
- (5)  $a \Rightarrow b \leq a \rightarrow b$  for all  $a, b \in L$ .
- (6)  $a \leq (a \Rightarrow b) \Rightarrow b$  for all  $a, b \in L$ .
- (7)  $a \leq (a \rightarrow b) \rightarrow b$  for all  $a, b \in L$ .
- (8)  $(a \Rightarrow b) \odot a \leq b$  for all  $a, b \in L$ .
- (9)  $a \odot (a \rightarrow b) \leq b$  for all  $a, b \in L$ .
- (10)  $b \leq a \Rightarrow b \odot a$  for all  $a, b \in L$ .
- (11)  $a \leq b \rightarrow b \odot a$  for all  $a, b \in L$ .

*Proof.* (1) $\Leftrightarrow$ (2) Since  $L$  is commutative, then  $a \leq b \Rightarrow c$  iff  $b \leq a \Rightarrow c$ . Thus,

$$\begin{aligned} b \odot a \leq b \odot a & \text{ iff } a \leq b \Rightarrow (b \odot a) \quad (\text{ by adjoint triple}) \\ & \text{ iff } b \leq a \Rightarrow (b \odot a) \quad (\text{ by commutative}) \\ & \text{ iff } a \odot b \leq b \odot a. \end{aligned}$$

Similarly,  $a \odot b \geq b \odot a$ .

Conversely,  $a \leq b \Rightarrow c$  iff  $b \odot a \leq c$  iff  $a \odot b \leq c$  iff  $b \leq a \Rightarrow c$ . Hence  $L$  is commutative.

(1) $\Leftrightarrow$ (3) We have  $a \rightarrow b \leq a \Rightarrow b$  from:

$$\begin{aligned} a \rightarrow b \leq a \rightarrow b & \text{ iff } a \leq (a \rightarrow b) \Rightarrow b \quad (\text{ by adjoint triple}) \\ & \text{ iff } a \rightarrow b \leq a \Rightarrow b \quad (\text{ by commutative}). \end{aligned}$$

We have  $a \Rightarrow b \leq a \rightarrow b$  from:

$$\begin{aligned} a \Rightarrow b \leq a \Rightarrow b & \text{ iff } a \leq (a \Rightarrow b) \Rightarrow b \text{ ( by commutative)} \\ & \text{ iff } a \Rightarrow b \leq a \rightarrow b \text{ ( by adjoint triple).} \end{aligned}$$

Since  $\top = a \Rightarrow a$  and it is commutative, we have  $a \leq \top \Rightarrow a$ . On the other hand, since  $\top \Rightarrow a \leq \top \Rightarrow a$ , by commutativity,  $\top \leq (\top \Rightarrow a) \Rightarrow a$ . So,  $\top \Rightarrow a \leq a$ . Thus  $\top \Rightarrow a = a$ . By Theorem 3.3 (2),  $(L, \rightarrow, \top)$  is a commutative eo algebra.

Conversely, it is trival.

(1) $\Leftrightarrow$ (4) By the above proof,  $a \rightarrow b \leq a \Rightarrow b$ .

Conversely, let  $a \Rightarrow (b \Rightarrow c) = \top$ . By a adjoint triple,  $a \leq b \Rightarrow c$  iff  $b \leq a \rightarrow c$ . So,  $b \leq a \rightarrow c \leq a \Rightarrow c$  ;i.e.  $b \Rightarrow (a \Rightarrow c) = \top$ . Other case is similarly proved.

(1) $\Leftrightarrow$ (4) $\Leftrightarrow$ (7)  $\Leftrightarrow$ (9) are follows from:

$$a \rightarrow b \leq a \Rightarrow b \text{ iff } a \leq (a \rightarrow b) \rightarrow b \text{ iff } a \odot (a \rightarrow b) \leq b.$$

(1) $\Leftrightarrow$ (5) $\Leftrightarrow$ (6)  $\Leftrightarrow$ (8) are follows from:

$$a \Rightarrow b \leq a \rightarrow b \text{ iff } a \leq (a \Rightarrow b) \Rightarrow b \text{ iff } (a \Rightarrow b) \odot a \leq b.$$

(2) $\Leftrightarrow$ (10)  $\Leftrightarrow$ (11) are follows from:

$$b \leq a \Rightarrow b \odot a \text{ iff } a \leq b \rightarrow b \odot a.$$

□

EXAMPLE 3.6. (1) Let  $([0, 1], \Rightarrow)$  be a unit interval defined as

$$a \Rightarrow b = \begin{cases} 1, & \text{if } a \leq b, \\ b, & \text{otherwise.} \end{cases}$$

We easily show that  $([0, 1], \Rightarrow, 1)$  is an eo algebra having  $\bigvee_i x_i \Rightarrow y = \bigwedge_i (x_i \Rightarrow y)$ . Put  $f_b(x) = x \Rightarrow b$ . Define  $g_b(y) = y \rightarrow b = \bigvee \{x \in L \mid y \leq f_b(x)\}$ . Then  $y \leq f_b(x)$  iff  $x \leq g_b(y)$ . We obtain:

$$a \rightarrow b = \begin{cases} 1, & \text{if } a \leq b, \\ b, & \text{otherwise.} \end{cases}$$

Since  $1 \Rightarrow b = b$ ,  $([0, 1], \rightarrow, 1)$  is an eo algebra. Furthermore,  $([0, 1], \rightarrow, 1)$  is commutative with  $a \Rightarrow b = a \rightarrow b$  from:

$$a \rightarrow (b \rightarrow c) = b \rightarrow (a \rightarrow c) = \begin{cases} 1, & \text{if } a \leq c, \quad b \leq c \\ c, & \text{otherwise.} \end{cases}$$



(2) Let  $([0, 1], \Rightarrow)$  be a unit interval defined as

$$a \Rightarrow b = \begin{cases} 1, & \text{if } a \leq b, \\ \frac{b}{2}, & \text{otherwise.} \end{cases}$$

We easily show that  $([0, 1], \Rightarrow, 1)$  is an eo algebra having  $\bigvee_i x_i \Rightarrow y = \bigwedge_i (x_i \Rightarrow y)$ . Put  $f_b(x) = x \Rightarrow b$ . Define  $g_b(y) = y \rightarrow b = \bigvee \{x \in L \mid y \leq f_b(x)\}$ . Then  $y \leq f_b(x)$  iff  $x \leq g_b(y)$ . We obtain:

$$a \rightarrow b = \begin{cases} 1, & \text{if } 2a \leq b, \\ b, & \text{otherwise.} \end{cases}$$

Since  $1 \Rightarrow b = \frac{b}{2}$  and  $a \rightarrow a = a \neq 1$ ,  $([0, 1], \rightarrow, 1)$  is not an eo algebra.

For  $a \neq 1$ ,  $\frac{a}{4} = a \Rightarrow (1 \Rightarrow a) \neq 1 \Rightarrow (a \Rightarrow a) = 1$ . Thus  $([0, 1], \Rightarrow, 1)$  is not commutative.

EXAMPLE 3.7. Let  $K = \{(x, y) \in R^2 \mid x > 0\}$  be a set and we define an operation  $\otimes : K \times K \rightarrow K$  as follows:

$$(x_1, y_1) \otimes (x_2, y_2) = (x_1 x_2, x_1 y_2 + y_1).$$

Then  $(K, \otimes)$  is a group with  $e = (1, 0)$ ,  $(x, y)^{-1} = (\frac{1}{x}, -\frac{y}{x})$ .

We have a positive cone  $P = \{(a, b) \in R^2 \mid a = 1, b \geq 0, \text{ or } a > 1\}$  because  $P \cap P^{-1} = \{(1, 0)\}$ ,  $P \odot P \subset P$ ,  $(a, b)^{-1} \odot P \odot (a, b) = P$  and  $P \cup P^{-1} = K$ . For  $(x_1, y_1), (x_2, y_2) \in K$ , we define

$$\begin{aligned} (x_1, y_1) \leq (x_2, y_2) \\ \Leftrightarrow (x_1, y_1)^{-1} \odot (x_2, y_2) \in P, (x_2, y_2) \odot (x_1, y_1)^{-1} \in P \\ \Leftrightarrow x_1 < x_2 \text{ or } x_1 = x_2, y_1 \leq y_2. \end{aligned}$$

Then  $(K, \leq \otimes)$  is a lattice-group. (ref. [1])

We define the structure  $(L, \odot, \Rightarrow, \rightarrow, (\frac{1}{2}, 1), (1, 0))$  where  $\perp = (\frac{1}{2}, 1)$  is the least element and  $\top = (1, 0)$  is the greatest element from the following statements:

$$\begin{aligned}
(x_1, y_1) \odot (x_2, y_2) &= (x_1, y_1) \otimes (x_2, y_2) \vee \left(\frac{1}{2}, 1\right) \\
&= (x_1 x_2, x_1 y_2 + y_1) \vee \left(\frac{1}{2}, 1\right), \\
(x_1, y_1) \Rightarrow (x_2, y_2) &= ((x_1, y_1)^{-1} \otimes (x_2, y_2)) \wedge (1, 0) \\
&= \left(\frac{x_2}{x_1}, \frac{y_2 - y_1}{x_1}\right) \wedge (1, 0), \\
(x_1, y_1) \rightarrow (x_2, y_2) &= ((x_2, y_2) \otimes (x_1, y_1)^{-1}) \wedge (1, 0) \\
&= \left(\frac{x_2}{x_1}, -\frac{x_2 y_1}{x_1} + y_2\right) \wedge (1, 0).
\end{aligned}$$

The structure  $(L, \odot, \Rightarrow, \rightarrow, (\frac{1}{2}, 1), (1, 0))$  is a w-eo algebra having an adjoint triple as follows:

$$\begin{aligned}
(x_1, y_1) \odot (x_2, y_2) \leq (x_3, y_3) &\quad \text{iff } (x_2, y_2) \leq (x_1, y_1) \Rightarrow (x_3, y_3) \\
&\quad \text{iff } (x_1, y_1) \leq (x_2, y_2) \rightarrow (x_3, y_3)
\end{aligned}$$

Since  $\bigvee_{n \in \mathbb{N}} (\frac{2}{3}, n)$  and  $\bigwedge_{n \in \mathbb{N}} (\frac{2}{3}, -n)$  does not exist,  $(L, \odot, \Rightarrow, \rightarrow)$  is not a w-ceo algebra. A w-eo algebra  $(L, \odot, \Rightarrow, \rightarrow, (\frac{1}{2}, 1), (1, 0))$  is not commutative because

$$\begin{aligned}
\left(\frac{4}{5}, 1\right) \Rightarrow \left(\left(\frac{5}{6}, 3\right) \Rightarrow \left(\frac{2}{3}, -1\right)\right) &= \left(\frac{4}{5}, 1\right) \Rightarrow \left(\frac{4}{5}, -\frac{24}{5}\right) = \left(1, -\frac{29}{4}\right), \\
\left(\frac{5}{6}, 3\right) \Rightarrow \left(\left(\frac{4}{5}, 1\right) \Rightarrow \left(\frac{2}{3}, -1\right)\right) &= \left(\frac{5}{6}, 3\right) \Rightarrow \left(\frac{5}{6}, -\frac{5}{2}\right) = \left(1, -\frac{33}{5}\right), \\
\left(\frac{4}{5}, 1\right) \Rightarrow \left(\left(\frac{5}{6}, 3\right) \Rightarrow \left(\frac{2}{3}, -1\right)\right) &\neq \left(\frac{5}{6}, 3\right) \Rightarrow \left(\left(\frac{4}{5}, 1\right) \Rightarrow \left(\frac{2}{3}, -1\right)\right).
\end{aligned}$$

## References

- [1] G. Birkhoff, *Lattice Theory*, Amer. Math. Soc. Colloq. Publ. **25**, New York, 1968.
- [2] C.C. Chang, *Algebraic analysis of many valued logics*, Trans. Amer. Math. Soc. **88** (2) (1958), 467–490.
- [3] G. Georgescu, A. Popescu, *Non-commutative fuzzy Galois connections*, Soft Computing **7** (2003), 458–467.
- [4] G. Georgescu, A. Popescu, *Non-commutative fuzzy structures and pairs of weak negations*, Fuzzy Sets and Systems **143** (2004), 129–155.

- [5] C. Guido, P. Toto, *Extended ordered algebras*, J. Appl. Log. **6** (2008), 609–626.
- [6] U. Höhle, E. P. Klement, *Non-classical logic and their applications to fuzzy subsets*, Kluwer Academic Publisher, Boston, 1995.
- [7] E. Turunen, *Mathematics Behind Fuzzy Logic*, A Springer-Verlag Co. 1999.
- [8] R. Wille, *Restructuring lattice theory; an approach based on hierarchies of concept*, in: *1. Rival(Ed.), Ordered Sets*, Reidel, Dordrecht, Boston, 1982.

Department of Mathematics  
Natural Science  
Gangneung-Wonju National University  
Gangneung, Gangwondo  
210-702, Korea  
*E-mail*: yck@gwnu.ac.kr

Department of Mathematics  
Natural Science  
Gangneung-Wonju National University  
Gangneung, Gangwondo  
210-702, Korea  
*E-mail*: jmko@gwnu.ac.kr